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GWheng GubuT® LBE@ID HBLIGHSH60
CHILD DEVELOPMENT AND PEDAGOGY

1. Army alpha testis a

a. Performance test b. Verbal test

c. Non - verbal test d. Culture fair test
Brreamied SpeouT CFTHmed 6(H

a. QFwmn Carmenent b. QFTBBaTHMmeNT

C. Qumplamym Gargement d. uewiuT (BF GamgHener

. Number of verbal and picture tests in Torrance creativity test are respectively
a.b, 3 b.6,2 c.7,2 d.7,3

LTOgeied oudbssHHmer Cargpamenuied o etenm QomfF CamsHemen, LIL &G
Garmpemendeiilel  elemienildamd (LPenBGL

a.5 3 b. 6,2 c.7,2 d.7,3

. What is your opinion in the reforms of present education system? This question
induces
a. Convergent thinking b. Divergent thinking

c. Logical thinking d. Negative thinking

SBHTeL Heval (Pempuled CHewauliiBLD LOTBBHRIGENTS BHalT S(HIHIEUT WTene?
B a1aieorT

SHTewiBLD  SbFHemnest

a. @al dbhpenen b. alfl Hbsenen

C. H1Hs FhHemen d. egitoemns SbsHemet



. Feeling and reflecting of others emotions like happiness and anger is

a. passive sympathy b. sensitive

c. imitation d. active sympathy

RQUHAUTSH (PHHH60 WHIDFH, Ferbd CuTeip o ewiTFdlenwl STEIDCUTE HLDEMLOU|LD
SIBwmoGsuBuw  SiemILISTILILIG)

a. Qgweomm Lfley b. 2 ewitay 10&HH

C. LeLimmed d. Grwems ufey

. “If the people of the society has high achievement motivation, the economic
growth increases and the society gets modernized”. It is given in the book

a. The achieving Society b. Achievement of the Society

c. Society and Achievement d. Society and its Development

“FupeHTW 1DHFHTILLD DML eLGHH o WiThsd Heneoulled STETILLLTED 6L HIeNMBEH6I60
FTHMOHET OLHE, QUTHMTHTY auenT&dFS QUBBI DFFUWPSTWLD HeTeIoenL U|LD”  6T60T
G LIUL (helTerm HIT60

ad. & SFFalm OFTen6erOL 1

b. eiFFeueani. o1 11 QFTMm6OLIQ

C. GFTemerL g DI DIFF6NLDEIIL

d. Qamemenl’ly S S 60 GO euevlinGlen

. The concept of was introduced by Alfred Adler
a. Oedipus complex b. Inferiority complex
c. Mental health d. Boorish and coarse
LI Sl 60T TRIMID H(HGHWHH CHTBBIONGHSHTT
a. uoliiend Fobapev b. ampeys Hbse0
C. DGV [HGVLD d. uewTLIMg6TENLD

. Scapegoatism is an example of

a. Rationalisation b. Introversion

c. Compensation d. Displacement

UeISLT SHSLILBHED 6T6iTLIS] SMSBMUIL] [BL HeDS
a. STIwID &MBLISHSH60 b. ©15CHTHGMLMLD
C. #p QFUIH60 d. @LioTBp

. Counselling which focuses on the problem of a patient is

a. Directive conselling b. Non - directive counseling

c. Eclectic approach in counseling d. Vocational counseling
Gprwrefuller LF&Fgemans@ (WHHWSHHAD SeMebGHD DiBleemn] USTH6 6D
a. OplFnThe Py LSTH0 b. OpMlgmT SNfleymy LSTHE0



C. FJF (PenDB d. Qzmpevatt ey USTHE0

9. Counselling to the counselee is
a. interrogation b. giving advice
c. to understand himself thoroughly  d. psychoanalysis

SINIYMT LISTHEL 6T6iTLI]

a. algmyenent OFUIH60

b. 2 LBxFID OFUIH6ED

C. HaImen (WpemWTs Lfihal OHTeTen 256 He0
d. e emiugluTuie] (pemm

10. Aptitude test plays a significant role in
a. Personal guidance b. Group guidance
c. Educational guidance d. Vocational guidance
BT LE GFmmhenel OGLIHOLUMIG udlILG
a. HNBUT LITFFeneIbBTe UHSTL L 6D
b. ®w enfam Lev
C. sevaluied aUIA&BTL L 60
d. Gampsd Gxialed eufHTL L 6D

11.A group which has completely negative influence is

a. primary group b. intermediate group
c. secondary group d. tertiary group
(LPIDEMLOWITET  GTAHITIDEMB CF606UTEHG OIBTEmIL. (& (1D

& SFME GW b. pEHmes Gw

C. aufiplenevd &L d. cpemTd Hemevd (& (D

12.Loitering and pointing others for his faults are the characteristics of
a. Introvert b. Short temper
c. Extrovert d. Ambivert

AUNIFFIIMLHG GUTH, Houml gmuget DIBGSHSHT WBFH U &FnHHiHe0 Gumes
LIGOTL|&B6M6T 2 6WL_UIGMIT

a. o1Bpasm b, apesr GsmLd C. LB d. us SIBST
13.Which of the following is not a projective technique

a. Rorschach ink - blot test b. Sentence completion test

c. Word association test d. Interest inventing test

SIS BTEWILINUBEHOT 615 LBHCHMMI HIGWI(LPEDB  DI6L6V?



a. Gymitegnss emHHL. CamHemnest b. eurédwib Birliued GargHeme
C. QgmmaeT GHTLTY CFmghemen d. satsd gememeal (Wens

14.Strong’s famous interest evaluating tool is

a. personal interest bank b. Vocational interest bank

c. Musical interest bank d. Language interest bank

salf&dd uBpslw eOLgmmhidler Lgueo WHILI BHd Smal

a. W STFF UL I19uied b. GamiB seuTdFdl Ul iguied

C. Qmgd HUTFH LI IQUIeD d. QumPs @euTFd UL 1guied
15.Schizophrenia is

a. psychoneuroses b. personality behaviour disorder

C. psycroses d. psychosomatic disorder

o quiiT&FS alewiL HleneD eIl

a. BIbLSH HenTFs] b. eyepemind Gamenmm GrTul

C. Haly 2 endhaBLims GpHTul d. 2 em2 Led GpHTul

16.Ergograph is used to explore

a. mental fatigue b. physical fatigue
c. monotony d. disinterest
aT@aTaITmI eTeiianid SH(Halulledr cpevld SLITUINILIH6IG

a. LGB EMGITLIL | b. o | BaewenliL

C. SIIL] d. syreudeirento

17.The study of fluctuation of visual attention can be experimentally made with the
help of a
a. Mason’s disc b. Marquis disc

c. Tachistoscope d. Compact disc

UTTemed  HeUaTSHH60 gMLBLD OTBISH0HMENE CFTHeerT clpeldD HewiL Bl 2 Halb
&(mall

a. Guerveiterd B ( b. rréelerd eul (B

C. LmdleroLmerd@asmll d. spbssb

18.An educationist who had the Eidetic imagery is

a. Gandhiji b. Aurobindo

c. Dr. Radhakrishnan d. Tagore

BH0HeMF Fmwed GUBBeUTTES FBLLBLD SHevalwmerT
a. BMHAH WY BT b. opalbsi

C. LUGLIT SIS (He3emTe d. sramr



19.Expansion of LAD is
a. Language Abbreviation Dictionary
b. Linguistic Appraisal Department
c. Learner Achievement Device
d. Language Acquisition Device
LAD eaemuger alflourdasid
a. Language Abbreviation Dictionary
b. Linguistic Appraisal Department
c. Learner Achievement Device
d. Language Acquisition Device

20.The part of the brain which is induced by Emotional stimuli is

a. Hypthalamus b. Pons

c. Medulla oblongata d. Cerebellum
LeTOU(FSF HMEWIL 60H6T HTEHEGD cpenenuiell @ LGS
a. mamLIBLITSH60TLD6ND b. ureterd

C. (pG6MiD d. Fmiepemern

21.The person who published the researches related to unconscious mind, is

a. Watson b. Revers
c. William Mc Dougal d. Hull
petallell erdhemsll UBPw uITuIFFlsemen GeueaTull L euTsHemelT e(hHeuT
a. eumL_&est b. fleuted €. afleveduid WHBH60 d. amed

22.In Flander’s interaction analysis parts are based on teachers
activity
a.1-8 b.3-6 c.1-7 d.3-8
WenmewrLfeT SenLallenerll LG &HHTuIale0 UG e o dfluifles
CFweouT LI QUTBISSH DIDS MBS
a.1-8 b.3-6 c1-7 d.3-8

23.The Latin word ‘Spiere” means
a. Look b. Hear c. Do d. Touch
Spiere — 6B BEVSHHET AUTTHMSHUNGET GILIT(HET
a. UnfT&aHe0 b. GaLLed C. QFUIZHe6L d. QzTBH60



24 Which one of the following is not an internal factor on the growth and
development of children
a. Bilogical factor b. Intelligence
c. Emotinal factor d. Environment in the womb of the mother

SIDdH HTEUILIMAUIBEHOT 61% GHLHemGHUllen eaueniTFd mmId (LpeTCeim)g et
O\ HHI 600l

SI60607
a. 2 _ulfwed amyemn b. miewreninsiey
C. e&TGeUpFF  Hiyemi d. stuler smadBEF EGHloed
25.Cathartic theory of play activities has close relation with school of
psychology
a. Naturalism b. Behaviourism
c. Psycho - analysis d. Purposivism
alemenwim_(h  uBPlw  weTaluled STISB  OBTETENSHWITEIS] Gamum g6t
BHHHBHBEDL ST OB(HEISW CFHTLT CBTewIL g
a. BuBmas b. pLS®S C. 2 emiugly  d. Gprésbd

26.Second stage of Maslow’s Hierarchial need is
a. love and belonging needs b. safety needs
c. esteem needs d. physiological needs
omerdBeur el HedH BHemeudbEhell @FewiLMD HeneowTdsd GBILILNBeUSDI
a. 9oy, gmy gmiThed CHeneussel
b. urgysriy anibg BHemeudber
C. wHUY Hemevd BCHeneuser
d. o uiT aumbeusBsTar gl g BHemaubelt

27.In moral development the preconventional stage occurs during the age limit of

a.2 -7 years b.3 -7 years
c. 5 -10 years d. 4 - 10 years
QR(ES aueNTFFUND BHML (LPewB UPHGHHEG (WBULL HleneD STerlIL(BD 6UUIGl GUTLDL]
a. 20 7 sLemiBsein b. 3 — 7 wiBH6T
C. 5 — 10 SemiBH6r d. 4 — 10 syewiHsel
28.Negative reinforcement responding : punishment
responding

a. increases : increases b. decreases : decreases



C. increases : decreases d. decreases : increases

TAHTDEMMB  AUIGLL L 6D  SHI6VMIGHEN60 ; HEWTL DI FHIEVMRISH N6V
a. 9FalsEw; 9igHafsEb b. @oBEGD; GMBHESID
C. 9fslE@0, GmBoHEGLD d. emBsEw; SiHshbEd

29.Learning is best defined as
a. any change in behaviour
b. arelatively permanent change in behaviour due to past experience
c. a permanent change in behaviour due to physical development
d. any change in behaviour caused by punishment
SMBMEL  GT6TLIGI
a. BLHMS LOMHHLD
b. WhwoL SDUMS®SF FNMHS BIIHSI bLSHMS LIHBBLD
C. 2 L60 aueniTFd Fnfibd HIIHST BLHMS LOTHBMLD
d. sI_meaule smyeiors alenemuld HL&Hemnd OMBBLD

30.Experiment of memory is initially done by

a. Ebbinghaus b. Stephen
c. Harlow d. White
pewere] LUBBIW CFriHameandemen (LPH&I(LPHe060 HL SHSWieuT
a. e ImGamererd b. erdreLiest
C. ammTGeur d. euic
ugad — I
SO
31. QuIHGHSLTDINSHS CFH ey GaFul
a. UG b. gmemip
&I Louiled
@bTLD6V OTeurL LD
LImig umgHi]
C. FHemeor d. gyeud
LOT 60T OBUIZH6
S)|60T60TLD (LP6LEMEV

QuTUIENS S ehd



32

33.

34.

35

36.

37.

38

39.

. QupssLoTeauBenBs CHITHOISHMH:

a. &y b. Qsmdemy C. BTV d. sy
IS en] fipsled Sy CgmiIgeny
HIT60 BLOMIG BLOMIG HT60
Fmsle0 &HIT60 Fmpiuens Fmnsled

o FT &ML OFmIsSmy BBt

‘FhdH (PSS LUevauT — BILEHHe Qpffluir

a. GeTeoNWID &HSHILD LleiTener b. SiGimen FewI(LPHLD

C. UTySBHTFaT d. semeveuTewIT 6T6dT.6T610.8H

‘ofleuat eaTaID QFTeL BFHmerdh GHMBIHEGLD

a. HECLEUGIT b. &b yes C. geo d. yseir

cgflwrsll QurmbEHuleTenensdd CaHiTsm.

a. oI - 1, 3, 4 FHHUpenBE6N b. onr - 1, 2, 4 HHupeBawei
FOUBST - 2, 5 FHHIPHBHEIT FOUBST - 2, 5, 7 HH(POBSH6N
GHBHIT - 6, 7 SHHLPDBHEI SHBIT 3, 6 H(H(POBSHEI

C. 9t - 1, 4, 7 Hmwenpser  d. oIIUT - 4, 5, 6 HHPDHBSBEIT

FOUBST - 2, 5 HHIPEHBHEN FUubST - 1, 2, 3 HHPMBEHET
SHSIT - 4, 6 HHWBS6I SHBIT - 7T HmperBHeT

“auemeruied” eTeiTaId G

a. smyemrll Qi b. ®B&M Fpin’s Quui

C. smyewill QuITgI GuuwiT d. smyewr Aply’ Quwir

‘oraTLenlbd OFHeismev’ — Slgd Camgl L GFmevedler CUIT(HeT
a. Hmweuwrm b, HwOmeoGauad €. lmeumemit d. Fmeiy Lmewrnbd

VFHeoogd dald Heusld’ eles Fplienul GLmBeT
a. GHHBIIDEML  F6wI(LpHLD b. wmzpETd
C. aumel d. yevenioLlg et

‘yaler aleugb Lev Gamg’ - UILTL6L AL GUBB HTL&SLD
a. 58 g@@GuT b. g8 eSevreudd C. g8 aGeurgemm d. Fd FbwdHT



40. @entemioll QuwiTeemend Fflwned G fley OQFuis.

a. el — ump b. yusd — GLIY
GIor - GLig GID] — S
FMIBID - G(Hemer Fmsld - uBLD
LDTEOT - S DTG - (G (THEM6IT

C.ued — umLD d. yed - Gl

GIm] — Sl Gy — LB
Fmsd - GLIg FMIBID - (G ([HEWeI
DTG - (&H(HEWGTT LDITGOT  &6OT M

41. “1DeM6EVH BTN 6TaID [HITeVlest ey Sfluim
a. UmygHeHTaes b. mTbsEed HalEhT
C. S|GWT6uINT d. smewngeOUIeH

42. SIBHTOMBBILT UTHHM6ET DIgaIDTUIND

a 4 99 (PHL 8 DY U] b. 9 @19 WHed 12 Sig ol
C. 13 oI (WPWH6L 31 Slg 6uUD] d 7 o9 wsed 14 919 eueny

43. aiForpedlleuT &Hl(HeE&GHBemer QomPufed GCLomPCUWITSSHTT.
a. Bevd e b. HBrsasid C. 6n9Gywib d. aumgevld
44. 016h&F GWITFHSH SHmevaurmed OFeuTedGw’ al(pdHener GLBBEIT
a. FIHM b. wpuwiyFer C. amewigrger  d. Qenpuigses
45. SIDL HILSSHSHET WML 6U6HINIMIBEHDHGHS FnmBLLBLD H6ewThaSH.
a. 96 b. 108 c. 100 d. 106
46. QUTHSHBHIOTRINHSH OFfley OFul
a. U@l JHE - HFTHE b. USSI THET - BTeuemedt
USSyer - SImoest LSgest - EyLoen
WSSy - &ibifeue WSSITer - &aTeues
FSSBIH — 6uTed FHPI(MH — eumell
C. UG THET - Gflwesr d. uss TH&ET - UTEBIH
LSS - Siaioeir LSBT - SHLET
WPy - Foifeues WwHHTer - SHIMCITHeumesr
FSHPI(MH — eumell FhDHIH — FHBI(HEHDHEI6N

47. ‘365606WIT”  UGIIT LIGVHEN60HBIPBHHH 60 Liewiwmmsiul LT[
a. 1592 b. 1590 c. 1593 d. 1591



48.

49.

51.

52.

53.

54.

55.

56.

57

‘ID6iTeTLIL’  6TEITLI GFmev.

a. oy b. o Bal C. sUip d. seber_Lb

‘Libun&amf efeorsd’ ety HTedlest yAflui

a. ULboed FlbUbS (WPFHedWIT b. gRIBIHTe0 GeuTOsHer

C. &g algeubTHT d. &.&. FewwsemT

Syiedwdh Fpe@b Gurer grel’ eaib mreder SpFfluir

a. aumeniigprger  D. FmymUTyE) C. GG d. sgrst

SL0eniseia @um@ gm auflmgmwsd BTHODHMH

a. o b. &9y C. & d. o=
(T FS) G GO
&S| &(H e S
In(h In(h In(Th In(h
9| 2 9| Fi(hH

SEFBTEID OHTLTH6M60 GUTHHSTH CHTLmIH HemiBLIL.

a. G FHFIDUT Glg GUHSBT6I b. Beomr LM G UMgeTTel

C. @yewi®p LT Gurgior? d. Garalas@ OalelieneT SiigHHT6s

‘CrTemwemuwids ST IQeID o Wiihgh Gguleud &e0Lenev’ 616IB CIBTeTENE 2 L W6
a. FeoLiTament b. wda effliuest C. QardsbTsHT d. WDSAPSHSTET

‘QumPiy etgienad’ LUWIST eUHD FTdHel
a.1,3 b.2,3 c.1,4 d.2, 4

gflwmer @enewienwld Caitey GFuis.

a. Glehd — oF6e0 b. ®eBlehd — UesTene
(LPELEM6V —  L|6ITEM6NT (LPELEM6L — SHTEhd]
(HSLD - STWT ([HSLD - DIV
OPBUIHED - HMEhd] OBUIH6EL - SHTWIT

C. GVlehd — SEled d. efehd — &rehd
(LpeLEMEL — SHITWIT (LPELENEY —  L|GOTE0E0T
(BB - SMEhd] W(HSLD - STWT
OBUIHED - LjeiTenedt CBRUWIHD - DIFl60

‘© eumld, o ullt, sLeyel i@l cpaTedBubd @HRICE &M (B sralwid Guflw
LImenid” - @eleurml dnnsluleui

a. alEhT Gleu. BTTDESBIGEITT b. Gs.0um.is

C. (Ip. GUISHJTFEITT d. Fm.al.e.

.HOIDF gmsd uBp alend@ld eufleeaied gilwme GUTmbHIWeTenmaedh CaHiTs.



a. Usprarm — SOPOsW gmied D, uppTETm — SWOD 061 Gl ed

ufium_ed - S0P Geued uflumLed - gnLedled SUIHS
LoefleUTESLD - Fnl 6060 QLUIHS wenfleurgsd - SO Geued

C. uspTam — SO Galel d. upeETETm - gl edsd Gauel
uflumL6d - gnledled SUIHS uflumied - &0 Geusd
LoTEUTFSLD - SLOPOBLY Fnl 6D LoTeUTFSLD - SHLOD OCHIPTnL 6D

58. ‘QFRIBLILGSHIHTET HTH elapid anfled LIBpHs HelehT
a. UL(BECaM L SeoWTadhSID b, 2 @bhaHrT Gul el Fewi(psd
C. BTDHHE0 EJTLO6MIGHEITIT d. 2 _@Bwener BTFTWLENT H6i.

59. “eitental @ _ulTHB8%h OEVTHMEL 2 60HID’ 6Temid LML 60 euflewus erpgluleuT
a. sLieoT b. uyewr C. Guord &yemit d. gemeweuwt

60. ‘CHTUISHE W(HHBH BEVHHUID’ 6TeTdh FnpSiuieuT

a. 1.8 Leitener b. waraldhgieurer 1M f aiboyenT
C. &I.F. @hTEIFLDLHSH60T d. o Geu gmimrs squir
PART - II1
ENGLISH

There are 30 questions in this part. All the questions are compulsory.

61. Pick out the adjective which can best fill in the blank given in the sentence
below:
The chapters are lacking in interest.
a. later b. latest c. latter d. letter

62. Which is the most appropriate passive form for the sentence?
“One should keep one’s promises”
a. we should keep our promises b. Promises should be kept
c. Promises need not be kept d. Promises may be kept

63. The most appropriate conversion to simple sentence from the compound
sentence “We must eat, or we cannot live”, is
a. We must live to eat b. We must not live to eat
c. We must eat and live d. We must eat to live



64. In which classification of work can we categorise teaching?
a. Clerical b. Managerial c. Skilled d. Professional

65. Choose the most appropriate a complementary closing for a letter addressed to
Sub-Inspector of Police:
a. Yours lovingly b. Lovingly yours
c. Yours truly d. Yours affectionately

66. In the following question, the passage consists of six sentences. The first and
last sentences are given in the beginning. The middle four sentences are jumbled
up as P,Q,R and s. Sequence the sentences properly choosing the right option:

S1_There was no limit to insanitation
S6- So I asked for a broom to clean them myself.
P-There were only a few latrines
Q- They refused point-blank to clean them
R-Pools of water were everywhere
S- I pointed it out to the volunteers
The proper sequence will be
a. RSPQ b. QPSR c. RPSQ d. QSPR

(Q.Nos.67 & 68)

67. Identify the one italicized expression (A, B, C or D) that must be changed in
order to correct the sentences:

Things wHLbe better if [ WO 5 job and eiéﬂ some money. Then I
won't have 4, live with my parents. (Ans: B)
68. The Sompany claimed , , bring the best

products and services onthedoorstep of their consumers

Ans: D
B C D (Ans: D)

69.I1dentify the errors in the sentences given below:



It is raining. Mohan and Sumesh were walking on the park. The path is wet.
Mohan slips and fell

a. raining, were, on b. were, on, fell

c. were, on, slips d. were, slips, fell

70.Choose the most appropriate clause that can replace the adjective phrase in the
sentence:
‘Madhu met a girl with blue eyes’
a. Whose eyes are blue b. Whose eyes were blue
c. Those eyes were blue d. Those eyes are blue

71. In the sentence “The train came rushing down the hill”, the word ‘down’
functions as
a. Noun b. Preposition  c. Verb d. Adverb

72. Fill in the blank with the most appropriate article from the options given below:
Smt. Sheela became Principal of the College in 2005.
a.a b. the c.an d. no article

73. Pick the odd one from among the words given below:
Pretty, attractive, beautiful, smart, lively
a. attractive b. lively c. beautiful d. pretty

74. Which of the following is not an instruction?
a. What an idea b. Sit down
c. Be silent d. Queue up



(Q.Nos 75 to 79)

Read the following passage. Select the best answer from among the given
choices for each question:

Most of us use the products of science - railways, aeroplanes, electricity,
phones and thousands of others - without thinking how they came into
existence. We take them for granted, as if we are entitled to them as a matter of
right. And we are very proud of the fact that we live in an advanced age and are
ourselves so very advanced. There is no doubt that our age is a very different
one from previous ages and I think it is perfectly correct to say that it is far more
advanced. But that is a different thing from saying that we as individuals or
groups are more advanced. It would be the height of absurdity to say that
because an engine driver can run an engine and Plato or Socrates could not, the
engine driver is more advanced than, or is superior t, Plato or Socrates. But it
would be perfectly correct to say that the engine itself is a more advanced
method of locomotion than Plato’s chariot was.

75. Which one of the following statements is correct?

a. An engine driver cannot be compared to Plato or Socrates.

b. Plato or Socrates is in no way inferior to the engine driver
c. Plato or Socrates surpassed the engine driver in every respect
d. An engine driver is cleverer than Plato or Socrates

76. People today are very proud because they

a. live in a philosophically advanced age
b. live in a spiritually advanced age

c. enjoy digital communications

d. live in a scientifically advanced age

77. Many of us make use of machines

with full knowledge of their genesis

without knowing how they were invented

with very little knowledge of their mechanism
without any knowledge of their historical significance

an o

78. In this passage, Plato and Socrates are mentioned to emphasize that

a. they had a great respect for learning



b. they were men of great scholarship

c. people as individuals in the modern age are not more advanced than their
predecessors

d. the engine is a better mode of locomotion than Plato’s chariot.

79. The phrase "height of absurdity” implies
a. the possible extent of rationality
b. the impossible extent of rationality
c. the possible extent of irrationality
d. the impossible extent of rationality

80. If a medal is an award made of gold, silver or bronze, choose the homophone
for the word which means

a. meddle b. muddle c. middle d. medel

81. Verbal guidance is least effective in the learning of
a. attitudes b. Relationships c. Skills  d. Facts

(Q. Nos.82 to 85)

Choose the word or phrase to fit each blank which best completes each sentence:

82. My landlady was very when I met with an accident
a. merciful b. pitiful c. sympathetic  d. hearty
83. The receptionist to ring another hotel to see if they had a room
a. offered b. suggested
c. recommended d. invited
84. I assure you I have wish to my responsibility.
a. shirk b. refuse c. abandon d. disobey
85. Has there been any on the strike from the Government?
a. reaction b. response c. comment d. criticism

86. Identify the most suitable explanation for the idiom used in the sentence given
below:



The boy backed up his friend’s claim
a. accepted b. supported  c. explained d. denied

87.Choose the appropriate tag for the sentence given below:
a. will you b. shall you
c. may you d. won’t you

88. Choose the following sentences by supplying appropriate connecting words
from the options listed below:

I met a boy told me I could find you.
a. who, were b. that, were
c. that, where b. who, where

89. The former President of India, Dr.A.P.J. Abdul Kalam has consented to address
the students of your school on the eve of annual day. Which discourse among
the ones listed below is best suitable for informing the parents of the students
about the same?
a.letter  b.diary c.notice d.slogan

90. How many syllables are there in the word ‘examination’?
a.4 b.3 c.5 d.6

ugd 1V
MATHEMATICS AND SCIENCE

91.A ABC ~APQR; AB =3.6, PQ = 2.4 and PR =54, then AC =

a.3.6 b. 8.1 c.b4 d.7.8
A ABC ~APQR; AB =3.6, PQ =24 By PR =5.4 el AC =
a.3.6 b. 8.1 c.b4 d.7.8

92.The learner’s skill attains its highest level of proficiency and it becomes natural
and automatic. The objective attained is

a. Naturalization b. characterization

c. manipulation d. organization

spuaflel  FHBewD  DIBHHT  DIHBULF  FHBewD  Hevevenw!  BUIBENSUITSHELD,
SO FOFULTHAD DML FBH. BFHML DiewL WLILBLD GBldbCamei

a. BUIBENSLOULILDTSHED b. @aw&dSHIILGSHSHIH60



C. FHWBOLWTHS MBHWITEHH60 d. @uEIEGLBHSHIHN

93.Which one of the following is not the principle of curriculum construction?

a. principles of child centeredness

b. Curriculum should be static

c. Curriculum should be related to everybody life

d. curriculum should be well integrated

SHMEVSHIHI L augeusmoliLled  LlsauheusiouBiled &Ml @b  GMISCHTT D606V, DIFI
oagl?

SWHMSHEMU eDWILTHS CBTeimend GHn&GH el

HMVHGHIL LD HleneOWITISHTH B)(HEHFH6V

SMVSHIH LD DIOIBTL  UTDHMBHEG OHTLTUMLWSTE B(HHH6D

. BMVSHFHIL L HHWeT BHeilF QHRIBMENIHIH DIHLDGHFH60

oo o

94. The arithmetic mean of 10 numbers is -7. If 5 is added to every number, then the
new arithmetic mean will be

a.-2 b. 12 c.-7 d.-12

10 etewidbelledt gnl HFFITFT — 7. QeUGEUT(H 6T6WIaMIL 1 5808 Inl 1960ITe0 SHlenl_d@GLD
yHw gl pFsyra

a.-2 b. 12 c.-7 d.-12

95.a =3, b =7, then the value of ab - ba is

a. 1944 b. 2187 c. 343 d. 1844
a=3,b="7aafe0, ab-baer Wi
a. 1944 b. 2187 c. 343 d. 1844

96.The median of the following data

31217

4'2'3'6'12

a.g b ’ c.g d.1
4 12 3 6

31217

Z o2 S —& @enlHenew

4 2 3612 8 @

a.g b I c.g d.l
4 12 3 6



97.The present value of a television is Rs. 14,580. If the value of the television
depreciates at the rate of 10% every year, then the value of the television 3 years

ago was

a. Rs. 18,950 B. Rs. 16,200 c. Rs. 20000 d. Rs. 18000

R OpTmevdss T F  Guluiar $BGUTendW HI h.14,580. @6uGeuT(h SLewIBLD
OF 0T ¥ ) (I O 19uTevt &I 10¢1p GxpUITETSHHBHTSH GMBSHSI
LHIILLUGSHBEH  6elalled 3 YeTBHEHDHE (WSIT  DISHOHTeNe0HST & G 1gufest
LOFHILIL|

a. om.18,950 b. 5.16,200 C. 5.20,000 d. .18,000

98.The sides of two similar triangles are in the ratio of J3:2. Then their areas are in
the ratio of

a. 3 :4 b.3:4 c.3:2 d.4:3

Bm aglanss (psGaTammiseis LssHSalar aldsd 3: 2 aefed, oeuBme
UTLILI6T6 &6 allalSHLD

a. V3 :4 b.3:4 c.3:2 d.4:3

99.Herbartian approach to lesson planning involves the following steps
I.  Application
II.  Association
III.  Generalization
IV. Preparation
V. presentation
VI.  recapitalization

The correct order of the above steps is
a.lIL 1L, I, VL, V, IV b. 1L, IV, V, I, 111, VI
c.1V,V,IL1IL I, VI d.V,L1V, I, III, VI



UTLSAHLL  augaueniolilied  CamTummiguies  SIeIG(PedBWTeIdl  Laeumd  Lig&Hener
966N bS]

l. Liwledtum(h

Il O&HTLTHUBSHSHED

. QUISHILLWILDTSEGHSH60

IV.  swmmubHHISH6e0

V. allen&d @ Hev

VI.  Beumitene

GuoBseniL Ligseier giwmer eufleng

a. Il II, I, VL, V, IV b. 11,1V, V, I, 11, VI
c¢IV,V,IIIILI VI d.V, L1V, 1L III, VI

100. “Accuracy with which test measures what is intends to measure”. This is
which quality of a good achievement test?
a. feasibility b. objectivity c. reliability d. validity
“aemg  oTalB CrrdssHHBeTE @b CsiTe CuBsmeteniuGSCBT Sms s

gleoelwiors  SleNMal(BHe0”  6IHIMB  FmBml  @UH  HeveL  wLalF  CFmmHementuiest
SDHBHTEAID 61HFH HAMOMUISH GHBHBBSH!?

a. FTHHUSHHEEND b. @&8smenen b SHeentp
C. 2_GUIENLDSHHEINLD d. gmuLemo
101. kg - sec -2 is an equivalent unit for
a. calorie b. Newton c. joule c. Pascal
kg - sec 2 alleft FwwTaN HI6VG
a. &Geur b. Mugl L et C. 23760 d. umervaed
102. Unbearable noise pollution reaches the ‘threshold of pain’ level when

sound intensity reaches

a.170 dB b. 70 Wm- c. 110Wm2 d. 120 dB

elGHeilen OFalwmed HThSS GETaTean(wTsd OFalemwll LIWRSTESGL @eIFOFHsaller
O

a.170 dB b. 70 Wm- c. 110Wm d. 120 dB

103. 3 cells of 2 V p.d. each are connected in parallel in case I and in the series
in case II to a series of 10 bulbs. Then

a. bulbs glow longer time in case I than in case II
b. bulbs glow longer time in case II than in Case I
c. time of glow of bulbs is same and uniform in both the cases



d. bulbs glow exactly double the time in case II when compared to Case - I
Gam_fenenrnied @emewriiti’ (heiten 10 uedLBen, 2 V  1betenipdhsd CeoupimGenul 3
L0 631856063185 (6THL_ 63T

aewad Il o ol auemad [ 60 uwedymeT Hewil Gmyd gefliTdpg)

alemsd I | el euemas Iled usbUBeT Hewi GBI @efTHBE

LeoLB6iT gafl(hd GBI @Fewi(h auenSUlID FIOWTH, SFTTAIHTH B(HHGLD

alemsd [ o uiGourwa ams [lev @eaiTeHsd Crybd Byewi(h LOLMISTEBSH

aan o

104. The “Theme” of 39t Jawaharlal Nehru national Exhibition for Science and
Environmental Education for Children, 2012 is

a. Science, Society, Environment

b. Science and technology for human welfare

c. science agriculture and industry

d. science and technology for global sustenance

3%z meauamieored Chm GWbmedelear CHFw pflaluied WBMID HFBMIFSLE0 SHeval
sewisT & 2012 &1 GBréHsld

SINleIWIeD, FUPSHTUID OBMID FBMIFGHLO60

Slaluled BMID el HeveDIdbHTer CIGHTIHEOBIL LID

Sflaluled, alleugmuid B@IDb CFHTHe0HIMB

oslalluied BEID 2 eudemTallul HTTHSH MBI CHTHEOHIL LID

Aan o

105. The important aim of lesson plan is

a. to evaluate pupils achievement

b. to foresee the teaching learning process

c. preparation for teaching content

d. to prepare TLM

UTL AL GBIUIBsTer (pwohaslul Cohrehald
LoTEmTRUTHGT6N FTHeMETHET HUIIH CFUIFHeD
SHBBEL-BMLIGHH6D (LPENBHENET (PGS 63T & GH60
SBUHBHVSHHTH 266N HIHMmIBM6NSH SHWMT GCFUieug
. BBBeL - HBLISHHE0 CUT(HLBMmeTsH SWMT OFUIeug

an o



2 2
106. If a, B are the roots of x2 - px +q = 0, then the value of @ P

(94
3 3 3 _
a. d 3P b. 2 3P c. p°-3pq d. 2 3P
q q q
) o - al B :
x2-px +q =061 cpeomiser d, [ eTelled S e DI
3 3 3
a. I73P b. P3P c. p*-3pq d. P =3pd
q q q
107. The arithmetic mean of a group of 20 observations was calculated as 12.5.

It was later found that one observation was wrongly read as -15 instead of 15.
Then the correct mean is

a. 13 b. 14 c. 12 d.14.5

20 orewidellart gnl BFFITSM 12.15 6le0l SHewISHLLILLL . LT Db elemisberlev
Q6Iml 15 eaudB@L uHeond — 15 6l HUBIHEOTS 6IhHHH CdTaTeniiLL (heTengl
SewiLmBlwlILL (Heitengl eTedllev, gFlwimest Fymaf]

a. 13 b. 14 c. 12 d.14.5

108. If x =26+ 5, then the value of x+ % is

a.10 b. 106 c. 12 d. 126
x =26 + 5 arafled X+%6&[ A1
a.10 b. 106 c. 12 d. 126

109. In a problem on division, dividend is 1261, Divisor is half the quotient,
remainder is 11. Then the divisor is
a.20 b. 25 c. 35 d. 45

AUGHHHL HWHEG ML, UGUGBLD 6Tewl 1261 OBWID 6UGHGLD 6TewTewITIH]  Falled
UTHWTS 2 e6ffengl. 6& 11 elelled, eUGHEHEGLD 6l6uwT

a. 20 b. 25 c. 35 d. 45

110. If x+1 is a factor of ax*+ bx3 + cx? + dx + e, then which one of the following
is true?
a.a+ct+e=b+d b.a+b=c-d
catb+c+d+e=0 datc+b=d+e

ax*+ bx3+ cx2+dx +e et @ smyewi x+1 erefled, Lleial(HalaTeuB®IeT o1&k GILoui?



a.atc+e=b+d b.a+b=c-d
ccatb+c+d+e=0 da+tc+b=d+e

111. (px+q)3-(px-q)°=

a. 2px(p°x*+3q%) b. 2q(p*x* +q°)
C. 2px(px+q) d. 2p°x*(px+q%)
(px+q)°~(px-q)*=

a. 2px(p*x* +39°) b. 2q(p*x* +q°%)
C. 2px(px+0) d. 2p*x*(px+q*)

112. Three metallic cubes of sides 3cm, 4 cm and 5cm respectively are melted
and are recast into a single cube. Then the lateral surface area of the new cube is
(in sq. cms)

a. 216 b. 256 c.72 d. 144

cpaip o Goores H FHIMGTST UbBHIS6T (Pemp@ 3 GF.5, 4 OF.15 wBLID 5
OF.10 BmauwmeaThSHId 2 (HBSILULBH @8 HTFHTOTS WIBBLULGSHBSH 616160 SHIFHei
ymplugly (F.05.15.u60)

a. 216 b. 256 c.72 d. 144

113. A ladder 25 m long reaches a window of building 20 m above the ground.
Then the distance of the foot of the ladder from the building is

a. 35m b.45m c.30m d. 15 m

soJwWledmbam 20 WBLT 2 wIsHHed @ SLYLHHE N6GIRI0  DIGNLOHSIGTENSHI.
SIFH  BH 25 IBLLT  pen(weiten  gewll  FTTSHSLILL (BTNl 6ledlled,  ejewiluilent
SIYLILTESHS0 BBHD S SHBG 2_6iTen HIILD

a. 35 16 b. 45 18 c. 30 18 d. 15 16

114. (64)x = 2 /2, then the value of x is

a. 4 b. 6 C. 1 d. 1
4 6

(64)x =2 V2, etafled, x a1 AN

a. 4 b. 6 C. 1 d. 1
4 6



115. A hollow sphere in which a circus motorcyclist performs his stunts, has an
inner diameter of 7 metres. The area available to the motorcyclist for riding is (in
sq.m)

a.77 b. 154 c. 44 d. 144

7 10LLT 2 efellL(peiTen ¢(h 2 6TefLMBm o (HemeT @eINsled @(h FiThHerd EH FoHHJ
UTHA QLI HEI FTHFRBMET HSDSHHHDBIT.  DUHEEG DB UTHAIHMSD
QL BousBaTer o e UFLL (&.15.60)

a.77 b. 154 c. 44 d. 144

116. Distillation is a process in which

a. evaporation takes place

b. condensation takes place

c. evaporation and condensation go simultaneously

d. solid and liquid matter change into gaseous state

AUYHL BHH6L 616  HHLDalleD

a. AIWTHEL HeL CLBIFBSHI

b. @efiTamised HmL CUBIEBS

C. SueluTsID BEID GaliTepiseud @Gy CrrsFHed HHWHM gBUBSBSI
d. S wBpid Hyeu LUGHEOUTHET TWBeNeVHE TBIH6 GBLBS MBS

117. 1 sq decimetre is equal to
a. 10-2ares b. 104sq. decameters
c. 10 hectares d. 102sq. decameters
1 ggp QLB LT eTedmgl
a. 102 g b.10 4 gz QL&bETOL LT
c. 10 4 QamsGLiT d. 102 ggy QLML
118. The correct ascending order of the calorific values of the fuels is

a. water gas - coke - natural gas - methane - hydrogen

b. methane - coke - hydrogen - water gas - natural gas

c. coke - natural gas - water gas - methane - hydrogen

d. natural gas - water gas - coke - methane - hydrogen

aflQummefesr  gflwmenr  &Geumfl  wHyBeT  SpdsTamid  gOHEID  gevinslest
guieuflenguled o _eitengi

a. preurw] — &f - QuiBens eutu] — LCHT - AL FeQ6sr

b. 158xar - &M — enaml ymer - BieuTu| - SuiBend 6T

c. &fl - QuBems eutu] — Bieutu] — CHT - MAML FEQ6sT

d. Sumbens eutu] — Bireutuy — &M — WBHET - MBI JE6IT



119. A light ray is incident on a transparent material x which is in contact with
another transparent material Y. The reason for the ray to all in emerging out
through Y is

a. X is rarer medium and Zi<C

b. X is denser medium and Zi>C

c. Xis denser medium and ~i>C

d. Y is rarer medium and Zi<C

Y aaimp  @oflue OCurmBen@h Gaidbd audbsiu’ L X oa&m|  wBoprm  @efllg
QUTHET 1B&H @Mh @eMEBHHT LGHBH. DSHHT Y6l aubuims GCaleilaurmssHiaTe
SHTIJ6uOTLD

a. Xeleg S TGems a1 &b pmid Li<C

b. X ereiug omig e b wByid Zi>C

c. Y aleiiug SILMOG e &b wBmid Li>C

d. Y easiug oI T@ens e &b wopmib Li<C

120. Convention takes place with the change in which of the following physical

properties?
a. Intermolecular attraction b. Ionization
c. density d. solubility

Gaulinggevaid gBUEBLOUTEH iH6T SuIBLiuied LewiLled gBUGBL TBBLD

a. (PeVHInBIBEHHEG Genl Buiujeien Tl allend
b. swelwrésd
C. SILTHI
d. semydmes
121. The members in the population of a protozoan after 8 generations through
reproduction is 256. The type of reproduction is
a. Binary fission b. multiple fission
c. primary fission d. secondary fission

Bphs BeIOumBE  (pmuled LB  Heweowemmdelled  LUGTTL GLmCameuTallest
B H0HTmEL GUHGBHD 256 5 2 6lenFl. BHS BNICLHESHSHeT GILILIT

a. ®mawlifene] b. uevpenys Lerey
C. (IpH6ev Blemev Llerey d. @yewiLmbd Bevev Llemey
122. The most common and widely distributed species of Malaria in which

fever recurs in every 48 hours is



a. P. ovale b. P. falciparum

c. P. vivax d. P. malariae

QUTGHITHAD LITaUUTHD SHTWILILBLD 61 FMpslenh e cpeold 48 wemll GHydHHe0
Al B ol (B wGeflwm sTUIFF gmBUBLD?

a. 1. @GBaied b. . umedAumyd
c. 1. emeueuTderd d. . wGeuflwmr
123. Find the correct matching of chromosome number in the respective

structures relating to chimpanzee from the given data
I. zygote:48
II.  Sperm mother cell : 24
III.  Spermatozoid : 24
IV.  Ovum:48

Of these
a. [, IV b. I, I1I c. I, II d. I, IV
&@1p O&THSHBLILIL (HeTern FbOLIesTEU N 6BT WRVERT] CFevas 61T 65T OUWIT&H@EHLD
Sleumlevleier &CrmBGomBamibas 61l 631 676001 60011 &b 6M & UL|LD SILILIL (H6VTerent. Filwns
QuT(BHFHUleienener CHiTs:
l. smuplenL : 48 Il. 11 albg QFed : 24
. albsam : 24 V. sjemi_g6ge0: 48
124. To initiate artificial rains, the clouds can be seeded with
a. liquid O, b. solid H»
c. liquid CO d. solid CO>
CewBensd LW gBUbGSHSH Gadhale WaH SreuilGeug
a. FHyeu O2 b. s H2 c. Fyeu CO d. s CO?

125. A person lost his right leg in accident at the age of 25. According to august
Weismann, in the above case, after his marriage all his children will be

a. physically handicapped b. normal

c. mentally retarded d. 50% normal

25 euwgleien @ BUT, aludHHed 6uevdH HTmeD BUDHSHTT. LBl aferdGILDesT
FBOIILG, SGLaTSIHBGL UBG LUBs&L Sleuflar Gwbamssel

A. 2 L6V 2EP(UPHBWHTH B(HBEGHLD

b. BueoumaremeluiTd B)(HdH @D

C. Lo&vIaUETEHFS] GIBWSTES BHBHGLD



d. 50% @uweoumarenelwind B(HbEGLD

126. The parts of a plant which phototropism and geotropism respectively are

a. roots, stems b. stems, roots
c. fruits, leaves d. roots, fruits
elFamiumaeal WBEID LalFaTTumgeal STeoliuBlD STauFiLGHH6T (LpenpGul
a. GauTmell, Hawi® b. sew@, Geut
C. LIPBIGHGIT, Bene0dHe6lT d. Geuramelr, LILDHIGGIT
127. A farmer wants to encourage allogamy for a better crop in his field. He has
to move

a. Androecium in unisexual flowers
b. Gynoecium in bisexual flowers
c. either androecium or gynoecium in bisexual flowers

d. both androecium and gynoecium in bisexual flowers

S160GeuTCsLA  cpeuld BeVeL LIUNT OLIHESSHIHME aleugTull HTeuFHHle 6lhSH LG enul
b&H&D OCguieurT?

a. @@ Umed LDeUflVIeTeN LD&THSHSHDHT6N

b. ®mured WweoMaI6TeN &G 60HLD

C. ®@mumed 1eVleIeTeN LDBTHBHHHTEV DIGLVH G60HLD

d. ®mumed 16UfleNI6T6N DBIHHHBT6I OBHID F6VBLD

128. Arrange the plants namely Garden Pea, Paddy, sugarcane and wheat in
the descending order of haploid chromosomal number present in their cells

a. Wheat, Paddy, Garden Pea, Sugarcane
b. Sugarcane, Wheat, Paddy, Garden Pea
c. Garden Pea, Paddy, Wheat, Sugar cane

d. Paddy, Wheat, Garden Pea, Sugarcane

emenpLowl  G8rmCGor@amibael elewienldbanduler Sigliienl_ulled G@mmig euflenFuleLig
SpEBWIL  HTeugmibenen  (CHT LU Lmenl, GBed, &SmbY wBpb  CosTHieniD)
aflenal LB SHSI

a. Garglemio, GBeL, GHTL L LI LTewll, &H(HLbL

b. sy, Gargiemio Gmed, GaHTL L L mewd

c. GamLiul Lmeni, Onev, CHTgHiemiD, &H(HLDL

d. Gmed, Gargiento, GHML LI LTewll, S@HLDL



129. The number of molecules of energy currency. FADH, and NADH; formed
in ethanolic fermentation respectively are
a.0,2,1 b.2,2,2 c.2,2,6 d.2,0,2
adhHeamedlds OBTHHHeler QuTIps OeuaflliuGd ommed Brewwid, FADH, oBmid
NADH: ai8weuBper cpeodannl elemienibend (LpenmEu
a.0,2,1 b.2,2,2 c.2,2,6 d.2,0,2

130. Find the mismatched pairs related to seeds
I.  Autochory - by wind
II.  Anemochory - by self
II.  Hydrochory - by water
IV.  Zoochory - by animals

Of these

a. [, III b.II, I c. I, III d. 1V, I
SPEBMIL Beneniuied alengdemuill QUTBISHS SHeumTer Eenewienuld Hewl(BLIYG
l. oL CLTGsfl — smBpledn ewevLld

1. SIeNGom@sfl — gwioTs

.  ewaml Gyl — Bifledr cpsvld

IV.  @&Gasmfl — allevmidler cpevld

Beupmiei
a. I, III b. 1L, I c. I, IIT d. 1V, 1
131. The element .............. is a constituent of chlorophyll
a. As b. Be c.Cs d. Mg
&Benm@ym.".LN6060I60 DI MIFlU6iTen  HEILOLD
a. As b. Be c.Cs d. Mg
132. Bright colour, aroma and flavor of fruits and vegetables are due to the
presence of
a. phenolic compound b. melanin
c. amino acids d. fatty acids
LIOWmIG6T LoBmID sruisPsellern S L BB, euTFener WBHID (HFHEG STT6wID
a. ermedd Gafiod b. Gusvresiest
C. OIOGeIT IO 6VRIHGIT d. Qsmapliy SudlevsiHelt

133. Antacid tablets like MPS contain



a. Ca (OH); b. NAOH

c. Mg(OH)> d. KOH and NAOH

MPS Gureiis oflev BoHa WHHBHIHMND 2 6iTeng)

a. Ca (OH): b. NAOH

c. Mg(OH)2 d. KOH and NAOH
134. Silver bromide decomposes into Ag and Br, when it is

a. magnetized b. exposed to sunlight

c. cooled in a dark place
d. exposed to humid air (moisture)
dlevauT LGrmemio® SlengeuenLbgml Ag wBmid Bro smb alemer eulf

a. BMHBHLOTHHE0 b. @fw eefl eielensouied
C. BmLiged Gefly meaudHHe0 d. Fyliuss srBrle (peeeneoued
135. Which one of the following coal products is used in the manufacture of
naphthalene balls?
a. coal gas b. gas carbon
c. coal tar d. liquid ammonia
BT. L1566 2 (HewiedL Ho6iT HWMilgHHeled LWTLGWD Hlevdbamll alememOLIm(mel
a. Plevdaf euruy b. eumuy et
C. Bevdasfd Hi d. Syeu oubGomeiwim
136. In our vertebral column out of 26/33 vertebra present, the highest and
least number of vertebrae respectively are
a. thoracic, lumber b. thoracic, coccygeal
c. Cervical, sacral d. sacral, coccygeal

BOH  (PHIOBNIDLS OHTLfed 26/33 elewienibms 2 6TenBurdl, eTewTenidbmeuied
SIHBIOTHAD GHMBAUTHAD 2 _6iTe  (Lp6iT6lemeVIDL&H6T (LpenmGul

a. Ty, eobumt (euufmi) b. wmiy, eumed

C. B1pHS, GO d. &6y euTed

137. Identify the statement not related to cloning

a. organism is produced asexually

b. Organism is derived from a single parent

c. A natural clone was developed by Dr. Ilan Wilmut
d. Clone is the living carbon of parents



SpamiLaBmleT o1& GCenmelm-&HBGHSH OHTLTLIe060THZI?

a. uredeomr @eIOLHESLD cpeold o ulfl o (HeurdsLiL{BH60

b. @8y QuBCBIALOmbE GuBrLG 2 ulfl

C. eIl BUIBENSsUITET &Gemmenr, LT&LIT SOUITEOT alleopL SDIQUTHENTED
9 (HeUTHSLILL L G|

d. @&Genmet eledLIGI GUTAPD euTAPD GUBGDBTTHeMN6ET HBHEVTGID

138. Reverse osmosis is different from osmosis in the following aspects
I.  Pressure to be applied
II.  Energy needed
III.  Water flows from higher gradient to lower gradient
IV.  Semi permcable membrane is essential

Of these

a. [, lI b. I, IV c. I, IV d. I, III

SEBWIL  IHET  SIgLIMLUle0  6IGHT  FeuewB  LJeUeL, Felew®B  LITeUeIled(HhSI
GoupibaImg?

1 SlWHD LLGLIGSHS LGS B!

Il amBmed CxHemeu

. 9188 SILTHHUINBHE GHMBauTen SILTHHDHE BT LT He0

IV. 9] sLHHF Felay Seudlwg Cxheneu

Sauppiet

a. [, 1l b. I, IV c. III, IV d. I, III



139. A student of a class IX has been provided with the following equipment
and materials

Rubber tube, clips, one holed rubber stopper, y- shaped glass tube, balloons,
rubber sheet, wide mouthed glass bottle and twine.

By making use of the above, the student can prepare a working model of

a. Stethoscope b. Kidneys

c. Lungs d. Blood cirulation

QSUSTD U@L LUTID e LOTEuIal(Hhdh@ HDSHITEmID HHaldHEnld, GUT(HL &HEMHLD
QUPRIBLILIL (HeTengl. JULIT GWmul, SHemilseT, @b SHlenenuleien JULT el LM, Y-
QUQEIDH  HEWTCWITY  (GHID6D, LIQTEIH6T, JUUT  olflli], ©IH60 eUTU|EDLUI 60T
UM 1960  LOBBID HTL euBedmll LWSILBSHSH, OFweouBld 6lhsH euemsd  Lomaflenul
o (HOUTHS (PIQuULb?

a. eI HBHmervBamLl b. Apsysmiser

C. miemyuiyed d. e®mHF FpBd

140. A project is abit of real life that has been imparted into the school.” This is
the definition of

a. Prof. Ballard b. Dr. Kiloatrick

c. Stevenson d. H.E. Armstrong

SISBTL  auTpalell e(h UGHdWSHTeT CFweOHL LIoTe UeiTefaeaied SBLIGSILGSBSI
- B eUMTULIMBENW UG HHUT

a. Gugrdflwim Gueor(® b. LrsLT &evBur M
C. GrOIAIGHIE 6oT d. HE. sybedl yrd
141. Which of the following statements is not true with meristematic tissue?

a. present in all living beings

b. responsible for the growth of the individual

c. present only in some specific regions of the individual

d. cells can divide continuously producing similar immature cells

SIDHBHMIL B0  YbGHHFMmAUILBBIU  FBBIILY  61&H  HUBTEIH  6laTLIMSHD

&em1(BLIlg

@3 eteveum o ulflesefend SmewIl LGS MBS

STUTHH UeNTFF (G STTILOTH 2 _6iT6NH

GBUILL sTeugll usGHuled WL BHOW STeRIILGHBSI

. QF60®6lT  QFHTLIHEH UGLUUDLSHD  cpeold o (heutaslw @@ Lomglfluiment
WWHTEFHWedLWTEH OFe0H6I

a0 o



142. In the process of plant micro propagation, the technician in the laboratory
forgot to add cytokinins to the culture medium. After somedays he observed

a. a number of shoots from the callus
b. a number of roots from the callus
c. delayed organogenesis in the callus

d. several outgrowths from the callus

STaU]  BIWTOLHESSHOLTIPEH  (mwdsCrm  yuGsaear) oLuieus  UeLEIBT  GUETITLIL
ol H5FHe0 mFLBLTendalener GFThs BHH Fev BT LH6T SWPHH 2 MmI ChTohEGLWD
QUTDSI

a. FHasareied Hewihsh BTG SHTewILILIBHEH60

b. Fasdrefed GauTH0HTGIIL] BTIILIBH6

C. FHaEsHHTefled SHTOHIOTET 2 MIUIL|BHEMTSHBLD

d. Hasdreiled UBeuenTFd SHTeIILBH60

143. Albinos are

a. Black people

b. white people

c. the people who totally lack melanin

d. the people who have more melanin concentration
SIOLNCIT  6TETLIG

SOILIL Ber1SHHeT

Oleusitemen Berdh HeulT

WpBlevIoTd  OIbeveTlest BB  SHTEOTLILIL T&HEUT

. DIFBLILQUITET Ooevelal BB o 6iTeNeuTHeT

Qan ow

144. After learning the lesion ‘Classification of Planets’ the students is able to
classify the given planets basing on their morphological characters. thus the
teacher achieved which of the following objectives?

a. Comprehension b. Knowledge
c. Aptitude d. Precision
STeuy  euensLUT lguied uBm g fha OsTemi s UBSHCHTBBSHSHET  DigliLienL uiled
STAUTRIGMET @  OTEOIeUIT60  auedSLIUTH Gl (pydpa. B&)
GBI&ECaTeT HammGauplouend 2 MmITHHISHBSHI
a. yips OGsmetensed b. opfe; ¢ HpemnisHed d. smsd s

145. Which one of the following is not the first step in development of lesson
plan?
a. Introduction b. Testing of previous knowledge



c. Motivation d. Initiation
LML S LD e1(1pHID QUTISH SHDSHHMILauBBIe0 61&H (LPH60 LIy Ee0enev?

a. 9PIPSILBSHSISHE0 b. weir oPfemeus Gardldhsev
C. 2a&ELILBSHHIHE0 d. swnmuGHSHIH6e0

146. The number of oxides that are possible with nitrogen is
a.4 b. 3 c.6 d.5
MBL TN 2 (HaUTHGID DLHMTFBH6M60T 616016001 HMND
a. 4 b.3 c.6 d.5

147. The difference between ‘quick lime” and “slaked lime” is

a. only one of them has a ‘carbonate’ radical as its constituent

b. one of them has ‘hydrogen” as its constituent elements

c. one has 4 constituent elements and the order has 3

d. one has ~-HCO3 as its constituent and the order has -CO3

Gl L SFewIelTb — BHiTHSH Fiewienimidl pSweuBning el Bui o efem GeumiLim®

a. @auBmiel @eisled STTUCEIL.B 2 Ml 2 siTengl

b. BaBsieT &ML MaBL TN DIHIF 2_6ieng|

C. DauBmIeTl &G0 [HIIG SHONDBISEHD  OBOBTEINSIEL Pl HELOBIGBEHLD
o GiTeNg)

d. 8aumpier geamley - HCOs o _pign wiopremed - COs; 2 _miih 2 eiteng

148. A combustion is said to be ‘incomplete” if

a. a part of combusting substance remains

b. the combusting substance burns with blue flame leaving behind some ash
c. the combusting substance produces carbon monoxide

d. the substance burns with red flame, producing carbon dioxide

T aalgled alewen WBBIT GLBaNELEm6VGILIEN60

a. enflub GUTHET LOSHLOEML GH6D

b. eflud QummeT Bev MmFaL (HL6T eiflbgl FMbLmey GeueLILIBSHHISH60

C. emflub QummelT HmiTUeT GCTEITHmFmL. 2 (HEUTEEFH60

d. fleuliy PB& L LT 6iflbal HTTUGT-ML -hEmFML 2 (HoUTDHEH60

149. “This method of teaching involves our placing the students, as far as
possible, in the attitude of a discover”. The method is

a. Project method b. Laboratory method
c. Heuristic method d. Problem solving method



@b LWIBBIPB B LOTETEUTHEMET  @T6N6 |  HWIBLIQLILISEHSHBTE  LOGIH 660N
9 (HheUm&hsLll LweTu(hLD

a. FHLpes b. eyuieus (penm
C. BHILUSCHL 60(enm d. dpFsmas@d ey STemed (LPenp
150. The end product of Psychomotor Domain related to human behaviour is
a. Generalization b. Organising things
c. Characterization d. Naturalization
weld BLHOSCWTH OHTLTUMLUI 2 6 SLBBD LevSHSHe alenene]
a. QuTHIMUILBSHSBIHE0 b. @uEIGUBSHHIH
C. LIGRILITE @560 d. BuwedLiTdE 560
ugad V
gFeps |lalluied
91. YsaT CUTHHPH DIBTHLOTUTSHT eTaTLSeT CUTHEIT
a. QBT (PIYIBBSI b. s aeaug Sevenev
C. ST BHEHIIBSH d. ousioTemal St (LIQUITS
Buddha preached ‘Anatmavada” which means
a. atma is eternal b. there is no atma
c. there is atma d. atma cannot be seen

92.

OyewIL. HeyeniFledlenr Gpmebad (1545 — 1563)

a. floopsd maHdelar Henevenw! FTUBHHIH60

b. &Ll ywrewisHer Benevenoulenerd FTLIGSHHIH60
C. ueTeldemend gFTLIBHSHSHIH60

d. a5Csmalds FHHFFMmUMWF FLBHHIH6E0

The Council of Trent (1545 - 1563) aimed at

a. reforming the conditions of the prisoners

b. reforming the conditions of the sea voyage

c. reforming the schools

d. reforming the Catholic Church



93.

94.

95.

GBLIWTET enevUTeIsTeN LIGLVAITHET H600UL (hEH6elT GWIEGWD FBhHEH SenFWITeniT

a. pByTFFmiwmT b. mydlibweuiioest

C. ©mDTE)IRgT d. sbw alegem

The Pallava inscription Kudumianmalia refers to a great musician
a. Rudracharya b. Narashimhavarman

c. Ramanuja d. Simha Vishnu

uluisd Ay uluwed B o Lear Qummsd), S6 Oarhasiul (heten @Guluibsamend Comewni(h
gflwmen alewLenwld BHihHoSH0H:

U guied A upuied B
a. umrdsGeomOwm Lwerd 1. @pHwneler (wpHeo CuITFHSSFW s NysHg
b. umerd@asrL smiom 2. @bgdwmaler @yewiLmb CuiTFasdlu oips
AP
C. Upmeidlerd 19 S1e00ILOUILT 3. Omper oulifeasTaler Qe (LpeneTenul
SIGWL_[HFHEUT
d. 2160CuTeCFT 19 DIGOLBTH 4. (PSHS(PHEOTH HL 6O UPWTE SHIHLITene
SIML[HSHEUT
A B C D
a. 1 4 2 3
b. 1 3 4 2
c. 3 4 1 2
d 3 1 4 2

Match the List A with List B and choose the correct answer from the codes given
below:

List A List B

a. Bartholomew Diaz 1. tirst Portuguese Viceroy in Inida
b. Vasco da Gama 2. second Protuguese Viceroy in India
c. Francis de Almeida 3. first to reach sourthernmost tip of Africa
d. Alfonso de Albuquerque 4. first to reach India by sea rorte.
Codes:

A B C D
a. 1 4 2 3
b. 1 3 4 2
C. 3 4 1 2
d. 3 1 4 2
GleusLeverdeYl LITLeN6 HiMeWILILML & H L Hwd gBmIdh CBTeTenTsH LOGT6IT
a. MABSHITLITS HlerOmd b. Uajeur @yewrmb uredymel
C. oBWTHE Heull d. &y seozmei
Which one of the following did not enter the Subsidiary Alliance with Lord Wellesley?
a. Nizam of Hyderabad b. Peshwa Baji Rao II

c. Nawab of Oudh d. Tipu Sultan



96. UeiteupUaudefled LSS BuisssdHed Csyrg BUITES SHSUILGUT?

a. uym umul b. emser ®misT C. aLiT d. &mpras
The person who does not belong to Bhakti Movement is
a. Mira Bai b. Hasan Ganga  c. Kabir d. Guru Nanak

97. UFEUTBMISE (PHMSW TS STeodTL euflens

|. Qg1by sB&TELLD
Il. uewW SBHTEVID
. ®mby smasTevld
V. ygw smereud

a. 1, 1, I, 1V b. 11, 1V, 1, 11

c. I, 1V, I | d. L LI 1V

The chronological order of the pre-historic period is
I. Chalcolithic Age
II. Paleolithic Age
III Iron Age
IV. Neolithic Age

a. 1, 1, 11V b. I, 1V, I, I

c. I IV, 1L | d. L LI, v

98. BauBBled 6IHFH UTHEWILD 2 eTenLoUIT6ISHI?
a. dbateuel HH6T DLUIBHEISET OQFUILI EHLDML  LIUIETLHSHE 6T
b. AbgiGeued weHeT BEHT S LIOGHMeOI LB ISluIT S hbSHen
c. ApgIOeuel woHeflar e1pHH gBH6T SiPwalsoenso
d. QursEhasTCIT ee@LIGHET GUTTHGT LsTeflldbdnl LD
Which of the following statements is true?
a. The people of Indus used iron to prepare weapons.
b. The people of Indus lacked town planning
c. The script of Indus civilization has not disappeared
d. Mohenjodaro means the school

99. Upensw Caumpamenddled SILmiFU|eTenenel
a. gmoGeusld, wegeT Geusld, fe Geugld
b. aipieuemt Gouzmid, wegem Gougid, Mé Geumld
C. wegeT Geumpd, Ml Geugpd, Fmo GCeugld
d. smp Geusld, SiiTeuemt Geuspld, wiggeT Geupld
The later Vedic period consists of
a. Sama Veda, Yajur Veda, Rig Veda
b. Atharva Veda, Yajur Veda, Rig Veda
c. Yajur Veda, Rig Veda, Sama Veda
d. Sama Veda, Atharva Veda, Yajur Veda



100. Genmflwy Cuprdler s Fwimenfler &mev (pewdm euflens:
a. shaAIGUsd — OwerflwT — o@smaT — WbasmTyT
b. oBsrasT — ghdrclis GQwerflwr — Nbgayi
C. shGUS — OwenflwT — LbgstyT — SCFTHT
d. OpgiemgT — o6snaT — FhHATGLIH GemiuiT
The chronological order of the rulers of Mauryan empire is
a. Chandragupta Maurya — Ashoka — Bindusara
b. Ashoka — Chandragupta Maurya — Bindusara
c. Chandragupta Maurya — Bindusara — Ashoka
d. Bindusara — Ashoka — Chandragupta Maurya.

101. ® _mBLET HTEUHemeL 6T

UTenmBa6T S(HhHS alfleuenL H60 L&D

. uTeB&HeT GHeMTEFS MWD BHT6VHIEN6V

9 _MBH6VT60 LITeNBHEIT HTMTeUSTGLD

.2 [ BITeL LTENBEH6T SHTeMTeuSTEGLD

Frost weathering means

a. the Expansion and shrinking of rocks

b. the cold weather of the rocks

c. the breaking of the rocks due to freezing

d. the disintegration of rocks due to saline solutions

oo o

102. BaBpled &} GLeoLT Sl &eLenev. DIHI 61H7
a. uBemey UME GO b. alff eugen GLevLrm
C. &wflw o (heu GLsOLT d. sLe0 gmihge GLedLT
is not a type of delta.
a. Bird foot delta b. Arcuate delta
c. Cuspate delta d. Marine delta
103. sBBledeTen sutujbseiler Fflwmer Siemeyseaisd @eumsled elenel qeTm &flwimeTeneu?

a. enplrmer - 21%, eudbedmer - 78%, wwBm eutuidbser - 1%

b. eoplgmer - 1%, eudenimenr - 78%, wmm eutuidser - 21%

C. ewpLyggen - /8%, gubenigger - 21%, BB eumwdsst - 1%

d. eoplgmer - 78%, eydenimer - 1%, woms eutuibser - 21%

Which one of the following is the correct combination of the components of air?
a. Nitrogen - 21%, Oxygen - 78%, Other gases - 1%

b. Nitrogen - 1%, Oxygen - 78%, Other gases - 21%

c. Nitrogen - 78%, Oxygen - 21%, Other gases - 1%

d. Nitrogen - 78%, Oxygen - 1%, Other gases - 21%



104. ulpwed Agg uluwed B o et Qummpsd), S8 Gar®Gassliul Beren GHluibsanend 6asTewmih
gflwrer alewLemdwdh GCHTHOHMB.

uliguisd A uliguiso B

(CUENBH6IT) (Oameoz6iT)
a. PO Hlewevsd GFHTLHeL 1. &S50
b. @yewiLmb Bewevd GHTe0 2. amidg QHmfev
C. CeIBTLD Hlewevd OIFHTLH6L 3. et Lg&hsHe0
d. preismd Henevd GHmhed 4. BN HHE FTdsamyenuirt LM 5050 5HH60
GBUib e

A B C D
a. 3 2 4 1
b. 3 4 2 1
C. 4 3 1 2
d. 4 1 2 3
Match the types from List A with their occupations from List B:

List A List B
(Types) (Occupations)

a. Primary 1. teaching
b. Secondary 2. banking
c. Tertiary 3. fishing
d. Quaternary 4. extracting sugar from sugarcane
Codes:

A B C D
a. 3 2 4 1
b. 3 4 2 1
C. 4 3 1 2
d. 4 1 2 3

105. SLPHHENIL. HTEVHIEN6Y LOBMILD LOENIPUIGTE| 2 _6T6N B MmIG6TeD LIhHSH HIBTS alenerub

a.30°C-40°C, 100 Q&8 — 150 Q&.18

b.20°C-30°C, 200 G&.f — 250 Q.5

b.10°C-20°C, 50 Q.8 — 100 Q&.18

d. 20°C -30°C, 50 Q#.5 — 100 Q.8

Cotton grows well in areas where the temperature and rainfall are between
a. 30°C - 40°C, 100cm — 150 cm

b. 20°C - 30°C, 200cm - 250cm

c.10°C - 20°C, 50cm - 100cm

d.20°C - 30°C, 50cm - 100cm



106.

107.

108.

CaTBSBIILL Beien QUWITHmeT (A) UL LBisepLer (B) GQummssis.
uliguisd A uliguiso B
(Quwim) UL LLD)
a. 6UMeUT 6ULIZ Ul 1. Cra1ed
b. sutey ghHrGuTerd 2. QUBHSHMm6VAUT
C. Frgmr eusdeoLTUl LIGL 6D 3. uehamier Hmisd
d. . smogrsy 4. ®pbHuwreler Nerdlomid
GBUib e
A B C D
a. 4 3 1 2
b. 3 1 4 2
C. 3 4 1 2
d. 1 4 3 2
Match the name from List A with their titles from List B:
List A List B
(Name) (Title)
a. Lala Lajpat Rai 1. Netaji
b. Subhas Chandra Bose 2. Perum Thalaivar
c. Sardhar Vallabhbhai Patel 3. Lion of Punjab
d. K. Kamarajar 4. Bismarck of India
Codes:
A B C D
a 4 3 1 2
b 3 1 4 2
C 3 4 1 2
d 1 4 3 2
(WH6e0 2 _euaLICUTHSGL! e QTweiul 6l mBOWISHLLILLL DIDOLILNET 2 L 6ILIgHmad

GTGITLIG)

a. wflwBemenr 2 L &iLig&Hems b. Puel 2 L agsams

C. QFaIgerd o L 6ILIgdHend d. QeuTOFweLerd 2 L @ILIgHme

The Peace Treaty signed with Germany after the First World War was

a. Treaty of Trianon b. Treaty of Neuilly

c. Treaty of Severes d. Treaty of Versailles
oluTer SIOWflés HLILED LML HHEMOTEr OLUTeL aBmTUd] ((PHSHI HIMBIPSLD) HTHSIWL

FHed

a. ggwuir 7, 1941 b. wabur 8, 1941

C. guT 6, 1941 d. g&urT 18, 1941

Japanese attacked American fleet at Pearl Harbour on

a. December 7th, 1941 b. December 8th, 1941

c. December 6th, 1941 d. December 18th, 1941



109. oo @hFHw FFHHATH Burfler GprevalldsTen (LpoHHUI SHTTewILD
a. Qurgieume &HHHH Ll fwimenflb &eLenev
b. uy Awnenaei b Haler SLUIBHISH6T E60eN60
C. @pbFHwiTsellenL G smeilLl L @BBIenLOUTeTenLD
d. omarsg S AunaTeeEpd HadsHH CFraisdeansv
The main cause for the failure of First War of Indian Independence is
a. the revolutionaries had no common idea
b. the revolutionaries did not possess modern weapons
c. disunity among the Indians
d. all the rulers did not join the revolt.

110. GuBEsHH W HSHHIUSHHET HHend 6160 DIHLPSHBLILIBLIGUT
a. Lmend b. Miguimerd
c. anfiiGuraym_erd d. GamyGymLLerd
The father of Western medicine is
a. Ptolemy b. Phidias c. Hippocrates d. Herodotus

111. Smagewt CHeugmugmed W HmI OFF LIFHBHWTs allerdeuprsd BTWLSST HUIOSSIL L UL LD
a. 1527 b. 1528 c. 1529 d. 1530
Krishnadevaraya appointed Viswanatha Nayak as the Viceroy of Madurai in the year
a. 1527 b. 1528 c. 1529 d. 1530

112. 180660 GougirT HEVHSHBHMBTEH 2L 63198 BT 6u0ILD
a. Y SLuSmIsmen SISl(LpSLILIGEH60
b. yPw Fmeriumens DPWPSLILGSHBHE0
C. aLBUUTLINT @SB HMLLILTIQHH60
d. yuyemmIseT Semiul Bl CFUI1H6e0
The immediate cause that led to the Vellore mutiny of 1806 by the Indian Sepoys was

a. introduction of new weapons b. introduction of new turban

c. introduction of strict discipline d. prohibition of wearing ornaments
113.  ursmd smenddlw o fwmenTseied WssF FBboHeuT

a. Qeyuiglibiest b. wgeomd 1160CHH

C. &yewiLmbd LeIBzmd d. SyewiLmb eNeayionddhaHer

The greatest ruler of Chalukyas of Badami was

a. Jayasimha b. Pulakeshi I

c. Pulakeshi II d. Vikramaditya II
114. (WHeumd LOGHHATEUTLOGITEL STLPSHLILIL L. [HITED

a. wzpaleors LysLed b. @izt egeeflwid

C. oubhgd &bl sHamyT d. utys Geuewrum

Mahendravarman I wrote

a. Mattavilasa Prahasana b. Kiratarjuniyam

c. Avanti Sundari Kathasara d. Bharatavenba
115. &6 @MU Beieneneusefled (sl Llar idbend GCBOSTeTNTSH BHLIgaQHmS 61H7

a. HWeVBHMT Ol e0elluledmbal CpeusiflaE wrmslwg
b. Qaiby BrewiwBIEmer Geueiuil L g



C. Cxm st 15g euflallgshgHe0

d. yfl OmamETHT QeOWHMS MBLILBBIGHE0

Which of the following was not undertaken by Mohammed - bin-Tughluq?
a. Transferred the Capital from Delhi to Devagiri

b. Introduced Copper currency system

c. Raised taxes in Doab region

d. Captured Jagannatha temple at Puri

116. Blevalledl o@ILGSHmSH 195994D e UL LigHs CawupensCsmel
a. et 3 b. e afls C. ®eiFm 2 d. ey
The other side of the moon was photographed by satellite in the year 1959.
a. Lunar 3 b. Sputnik c. INSAT 2 d. Aryabhatta

117. Aeauppled a1zl Fflwmen elewl efen 61(LRSHLD?

a. HUBBULD 61U CPBIBI LSS BT GPbHS UGHWTGLD.

b. @yewi Quilw PrugdHsmen Bewewidb@ld GHymer HeTLTMS

C. emEw anPfuiler eceoord &LeOBHT 2 6T auhHeougd aflGLT G

d. elf@Lrmen el QuiisTa SHIUS aIeTGLT

Which one of the following statements is correct?

a. Peninsula is a water body surrounding by land on its 3 sides

b. A strait is a narrow stretch of water which connects two large water bodies
c. A bay is an inlet of the sea with a narrow opening

d. A gulf is wider then the bay.

118. ArmBxmpbalrer OFsaremnearuled(hbal LieuGarerveuTdE LBLLLLl Gurdlamrt. ST LweaUGSHS
Gouemtigul HleveuemFLILIL LD
a. BUIBEMSUIEMLOLIL] eUEDTLIL LD b. QurmeT FMTHE euILIL D
C. 9flwevenioli] eUENJLIL LD d. Beman epasipId

Rajendran is scheduled to leave Chennai and reach Bhubaneswar. He has to use the
map.
a. Physical b. thematic c. political ~ d. all the three

119. 0°STbaBrens difeals Gofliguies ea@iE SMWPHSILGEBSE. G6TaTe0
a. 180° o sGrewad OrlelF Gofliguies et SIEmIPEHILGHBS
b. 180° dpsab 180° GuBb @Gy UeTefuled &bl ampen.
C. Obs FHTHECTMD B6V6NTL NEVIGTEN LDHSHEMTED &Hewl(BHLIQSHBLILIL L S
d. BevewmiLalgeiien HfcielF o GLHFH60 alewiQeuell IMUIFS Hemeowd QEIBI 2_6iT6eNgl.



The 0° longitude is also called as Greenwich Meridian because
a. the 180° longitude is called Redwich meridian

b. both 180° east and 180" west meet at a single point

c. this longitude was found by the people of London

d. a space observatory is located at Greenwich in London.

120. B stelulaisieon algialued aa@s efibmed@ aBSHSHIGHT B
a. 2 _pRiG erflienew b. umig eflemev
C. abaGumes erflosmev d. BeuBnfled erHIA|O60MEL
Vesuvius of Italy is an example for volcano.
a. dormant b. active c. extinct d. none of these

121. BhHW gl L Aulell QBTG eI6LISI LDTHGOMBIG 6T LOMBMILD Wy eoflLLIest

yCpamisemend O\oTemrL g

a. 28,7 b. 29,7 c.27,8 d.28,8

The Indian Union comprises ____ statesand ____ union territories.
a.28,7 b. 29,7 c.27,8 d.28,8

122. OhHw oFuied Semoliied G FTSHBHIB6NT
©_6lT6rent.
a. XXII, 449, 14 b. XXII, 501, 13
c. XXII, 449, 12 d. XXII, 448, 12

LIL_1QUIGVEB6IT

The Constitution of India contains Parts, Articles, and Schedules.

a. XXII, 449, 14 b. XXII, 501, 13
c. XXII, 449, 12 d. XXII, 448, 12

123. SICNEST IHBEG 2 SHTTWIOTS HHFHLILIGHMBHI?
a. @ s.d wos b. 8yewi &8 (Wwemm
C. uev &LE (pewm d om sl b Bedeors (penm
USA is an example for
a. Single party system b. dual party system
c. multi - party system d. no party system

124. UM (B BHHIOTBLD DiewLObHSHI6NT6N GL LD
a. Bluyuins b. gnesr Lpnesiderv@am
C. GUTRGIMIL 65T d. & Gams
The International Court of Justice is situated in
a. New York b. San Francisco
c. Washington d. The Hague

125. &(HLOUGVMS FHIU LD wmgmed IBIpSLILGSHSLILLLG&I?
a. Cpdlws sevalds OCsmeeans, 1986 b. omaumsEGL SevaldHa LD 2002
C. ovallds Gametens 1968 d. Bxflws seveld Osmetemns 1991



The ‘Operation Blackboard” was introduced in
a. NEP 1986 b. SSA 2002
c. Education Policy 1968 d. NEP 1991

126. 60T QU(HLOTEID GHBILILIGI
a. @ BILIGeL auFHGD oHHella aUTDHMS Heneveduld GHNILILIG
b. @@ BT Iged 2 6len LiewISHETITH6eM6T ITIDSHMBHBILD
C. @@ BTLIQ60 PMOUTED © 6T6N D&HDH6MET UTDEHMS [Hlen60
d. BILIged 2 _6iTen HEBEMNET UTDEMBHSILD
The per capita income shows the
a. living conditions of the people in a country
b. living standards of the rich in a country
c. living conditions of the poor in a country
d. living standards of the people in a country

127. ICAR @1 alfleurdasid eresen?
a. Geuenmmewt LIGHBBTT AHIHU G
b. Geuenmewt MUIFHdETET QHHUW GHUHLOWD
C. Gouenmewt SuITUIFFEHTET BHHUW G(1D
d. Geuenmewi LGHEBBTHT BHAHUI GUQLOD
What is the full from of ICAR?
a. Indian Committee for Agricultural Regions
b. Indian Council for Agricultural Research
c. Indian Committee for Agricultural Research
d. Indian Council for Agricultural Regions

128. ‘oefily i)’ eeug ehsd @penngmarer GBIgdh CHTLTmU alend@h?
a. uwiLSFmarer alemeow|d Sjefiliier oenalmBEn’
b. uew_SPHMBeETen aleneoujld DIHET HIHEDSHUD
C. alemevulled gBUBLD GMMLD LOBMID LIGWIL SHHBHTET HFLD
d. eleneoulBea(IplD LIGHIL SHHBSTET HJ(LPLD
‘Law of Supply’ states that there is a direct relationship between the
a. price of the commodity and the quantity supplied
b. price of the commodity and the quality of the commodity
c. rise in price and quality of the commodity
d. fall in price and quality of the commodity

129. alleweowTegl Fopenev allensvenl el DIHHTHET Die0evHI GemmeuTHCour
B maaCUTEI, Fpemev alemevenwl SimLwl CHameuwd Sieflib GgweoLfdlaimser g 6T60T
SIMIPHSBLILIBLD.
a. aleney FLOKEM6V b. ey gwBeneo
C. OIBIBTY FLOH M6V d. Gzeman gFioBlenev
Demand and supply react to bring the price to equilibrium level, if the price is above or below
the equilibrium price. This is called
a. price equilibrium b. supply equilibrium
c. market equilibrium d. demand equilibrium



130. BhAw mputule SaliulL SaianoTag B I OSTGILGT SLELD.
a. Gxpeupraf ‘Ra’ wppib symde swsddHear ‘R’
b. Czpeuptaf ‘Ra’ wpmid Gymo erupdhHer ‘R’
C. @hs awsHFeo ‘Ra’ wmpid Cymo ewsHHer ‘R’
d. @hs ewsFeo ‘Ra’ wmpid symdlev eipsdHar ‘R’
The unique Indian Rupee symbols is a blend of

a. Devanagari ‘Ra’” and English ‘R’ b. Devanagari ‘Ra” and Roman ‘R’
c. Hindi ‘Ra” and Roman ‘R’ d. Hindi ‘Ra’” and English ‘R’
131. Aenemilil] QUL QFHTHBEFTEML, OFeiienenr LTLT @HOL 6. .F CHTLHBFTen60, ITDOGOL LT,

o..& OamhiBarenen, GFeud, BWBBIBG TBHBHIHHTL(H

SPHB a6y 2 _BuUSHFH CFTMPHBFTENEL

fflw oleey 2 _BUSH CFHTHBFTMEL

565HT 2 pusd GsmPbeTame

. GuYmFH OFHMLed

The Integral Coach Factory, Chennai, Tata Iron and Steel, Jamshedpur, Salem Steel are
examples of

oo op

a. large scale industry b. small scale industry
c. medium scale industry d. cottage industry
132. &EH6T HTNSE ILTHH UL (Weiareniuled o 6o BHT{H
a. @paHwr b. e C. URIBEMTBHOG d. undlervgen
The country which excels in density of population is
a. India b. China c. Bangladesh d. Pakistan
133. SODHETH WIHeD Bbd DI FCrmasd BamLBuw SImLbhH(HHH&BSH
a. 18" 05" edmbaE 23° 09 e dE b. 8° 05 edmba 13° 09° eIL_&G
C 8 05 odmpa 23° 09 e dE d. 13° 09" @b 23° 09 eI_&@G
The Tamil Nadu State is located between the latitudes
a. 18° 05" to 23° 09" North b. 8% 05" to 13° 09" North
c. 87 05" to 23° 09 North d. 13° 09" to 23° 09" North
134. SODBILIQED (PHe0 Dl LOTHIEneOUID DiHLOHSEI6NTEN GL LD
a. Gal_MIG6NID b. @esbumd®HID C. oyevauruiGwmf  d. HewiBobsed
The first Atomic Power Station of Tamil Nadu is located at
a. Kudankulam b. Kalpakkam c. Aralvaimozhi  d. Dindigul
135. TNPL eeiuger alfleurdsid?

a. SODBETH STHH LML [HIMIe6TLD

b. s0BTE SFsH STULSLD

C. BTG DIFF HnleueId

d. sODETE CFUIHSBTeT DiFs BB STHSH HBIE6TD



136.

137.

138.

What does TNPL stand for?

a. Tamil Nadu Paper Limited

b. Tamil Nadu Press Legacy

c. Tamil Nadu Print Limited

d. Tamil Nadu Newsprint and Paper Limiter.

® 5 BHOABSHHS HHUHSHTO HGHBTed GBILULIBeaaTeuBned Fhwmeaiendd
BxibOHBHBMLD?
a. oeuet / Seuelt HHW BILIYET GWYssenTs Shbs GeuemrBLd
b. oeuet | w6l 2 WITBHOSBHHO GHMBHHH WHH QB aupdHBBiErIme umiwmby koo
Gouemt(HLd
C. o / a6 Tl L BHOSBEHH60 apdEEBlErITes Lewiwmbs Smobs GauemsiBLb.
d. o6 / a6l 65 auwmd SIDLHESMITS BHHd GouewiBLd
Which one of the following statements is correct with regard to the qualification of the
Supreme Court Judge?
a. He / she must be a citizen of Indian
b. He / she must have worked at least 5 years as advocate in High Court
c. He / she must have worked as advocate in Munsiff Court.
d. He /she must have attained 65 years of age.

SIrdlwevemioliL] FULSHH60 FIHaHl 21w eleiienn o SHHTauTHD DieMdbSmg?
aumpeusmaeTer 2 flenio
SlgliumL &evallbaTen o fenp
&60a1 [HBIeUThIGMET SIMLOLILIGHBETET 2 flenid
AhFHwraled emiGD OFsbeusBaTar o Meno
Artlcle 21A of our Constitution guarantees
a. Right to life
b. Right to primary education
c. Right to establish educational institutions
d. Right to move anywhere in India

oo oTe

SSHHTamId CFTBEBTLI0 615 HeupTeaIm Slsvev?
a. GWbHmd OFTHevrenTader o (Heaursd smyenid GUBCBTTHefET Heval Sipfey
b. waeonell @GHmBHEETE QLTSS meldwd CFaHsH BalewiBLD
C. Gubmad Gambeorell o (Heurs eupiEnHCW HTyewTILD
d. suwbma QFHTfeorenTaer sTeawILUBD auwig 6 - 14 o HH6iT
Which of the following statements is not false?
a. The main factor of child labour is literacy of parents
b. The employer has to pay the entire wage to the child
c. Poverty is the factor for child labour
d. Child labour is between the age group of 6 - 14 years.



139. gnid (SAARC) BTH&EHSSTE (pHe dnl LID LBIGMTEHaPe6T6N L ThaTaled Henl COLmm
bW (B

a. &uT 6, 1985 b. wawur 7, 1986
C. 19&buT 6, 1986 d. &bur 7, 1985
The first meeting of SAARC was held at Dhaka in Bangladesh on
a. 6th December, 1985 b. 7th December 1986
c. 6th December, 1986 d. 7th December, 1985
140. BhHU HIHTERIU DLEDEWIUILD 6ILIQUT(HL BEHDHESH SHIFFTEHIM CULDHIGH HTBHI?

a. GampPed BEID HISTCMTT LIGRTIL MIS6IT
b. Geuermewt QUIT(HL eIt

C. UlLT& WwBmIb HUCUL Y CUTTHL H6l

d. ®wsseie aTDHMBHHIID

Bureau of Indian Standards caters to

a. Industrial and consumer goods

b. Agricultural products

c. Crackers and match - box production
d. Standards of living of the citizens

141. SIS HEWILUBN60 61H LiewidHHlem Lismienul @GHmILiLgleosnsv?
a. uflorBpds smel
b. wdAiear oeneBasted
C. aFlTamew OCFISHMBEHEHTET HleNEOLOSILIL
d. @EDIUGSSHIUSDBBTET BHET
Which one of the following is not a function of money?

a. Medium of exchange b. Measure of value
c. Standard of deferred payments d. Instrument of unity
142. o BuSHH sTrewiden (LULlguied A) BBID 2 BUSHHGHTEN 2aduihmsHub (UL iguliso B)
QUT(HSHHIS:
Ul guied A Ul guied B
a. [pleod 1. ®eomuib
b. 2 emwpriy 2. aullg
C. (LP6VSHEILD 3. &6l
d. syemioriy 4. GUTL 60
GBuib e
A B C D
a. 4 3 2 1
b. 3 1 2 4
c. 3 2 4 3
d. 4 2 4 1



Match the factors of production from List A with their rewards from List B:

List A List B
a. Land 1. Profit
b. Labour 2. interest
c. Capital 3. wages
d. Organization 4. rent
Codes:
A B C D
a 4 3 2 1
b 3 1 2 4
C 3 2 4 3
d 4 2 4 1
143. BauBpsled 61HI CLPELHATHEHG IIQaID HI6L6V?
a. LBLOLIOUTH6IT  CLPEOSHEILD b. uewr epevgHeid
C. BUBMS ELHESHEILD d. el cpeogHed
Which one of the following is not a form of capital?
a. physical capital b. Money capital
c. Natural capital d. Human capital
144. B0 HUBTAT FnBOBDH FnBIb.
. FUPSHIPD FUPSTUL(WPD QeTBISHCSTEID OHTLTL DL WIS
b. FepasHer Chrosd - GUTHIHEOLD
C. Fupalb UL GEHeMT OFTGHSH — REBISOBTEIBI OHTLTLEDL WG
d. sepsb aaLg S’ walsTaalLfBhal @b GOILILL aIMpPaISBETE (LB

A FITLITTSHSH60

Which one of the following statements is incorrect?

a. Society and community are interdependent

b. Society has a purpose - a common well being

c. Society comprises of various groups, which depend on each other.
d. Society demands certain way of living from the individuals.

145. SPTo LehaFTwsHHer Lenfisellsd aumTdh eaiml 61gi7
a. dgmomiseied Slewrm Gleul B&He0
b. dymokiseied o 6ien alenenuim’ ( HIDHTEIHIBE6T H616 G360
C. SPMOEIBHTNED FTMELHET DIENLDSHFH60
d. Symorisefed 1W0eFTy 2 MBUSHSHMUIL GLIHEEHH60
Which one of the following is not the function of the village Panchayat?
a. Digging the well in the village
b. Maintaining playgrounds in the village
c. Laying village roads
d. Generating electricity in the village



146. Cgeraibdwraler LOTEIOFaOLT 616 &H(hHBSLILIGMIS

a. Gamubysgmit b. umenemuURIBETL L
c. mGyn@® d. waieny
The Manchester of South India is
a. Coimbatore b. Palayamkottai
c. Erode d. Madurai
147. Spgwraled GHLI L B SFe0 BhsGD CHIFmE SPusBG Qb FHibs Croms
dBHBHIS QBmeTenILIBSHMBSH.
a. 83° 20" s b. 20° 83 &l
C. 30° 82" HpdE d. 82° 30" &ses
To calculate the time of any place in India, the longitude that is considered, is
a. 83° 20" East b. 20° 83" East
c. 30" 82" East d. 82° 30" East
148. ABIBEHHG DL uled FHdHEG OHTLTFHIDme0 HIPHEGH HLBHOIHEG SM0TUITS
OF60S B
a. w&Mhd, Camsmmeu b. dmagewit, melms
C. LBMBS, UMD d. Gargmeauf, el
The Eastern Ghats run parallel to the East Coast between the rivers
a. Mahanadi, Godavari b. Krishna, Vaigai
c. Mahanadi, Vaigai d. Godavari, Vaigai
149. GuBe @ITemevsTer LTenevaaoTsGa EHHIHMSHI. 6JolaTeied

a. Om»aGoBE UHeUSSTBHI MG DL AISHE06M6D

b. Ox@GLBE LHSHTBE DJaI06) GRIBIGEHSE DMIUTS 6isHd @Bl

C. OxaICBE LmHUSSTBBI SLT6I60 GHSIBIHETTEL HBHBLILGS MBS

d. OxaCBE LmUSSTHE DIale0s) GaEtmB Senl UCUTEHl wamlp GuMPbaselBGEBa
Western Rajasthan remains a desert because

a. South west monsoon winds does not reach there

b. South west monsoon winds blow parallel to Aravali hills

c. South west monsoon winds are obstructed by Aravali hills

d. South west monsoon winds lose moisture when it reaches Aravali hills.

150. AeuBpled 6TH HEUBTET EUTHBSUID?
a. @ofliT areudhdlab CouaiB @TevdHeuld Csrgieno LWL LLGEBSI
b. ugenp Ly & &ryenions LehaTied Gargiemp FHHID alenendmal
C. sehenguled Cargiemy HF@D elenenalbslLBSBSHI
d. @bHwreled GsTaIEMD (IPHBUI 2 ewrayl LUNT SLGLD.
Which one of the following statements is not true?
a. Wheat is cultivated both in winter and summer
b. Wheat production has increased in Punjab due to Green Revolution
c. Wheat is largely produced in Thanjavur
d. Wheat is an important food crop in India.
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